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1. Because Manfred sports center is located in the center of the city, it is
by bus or train.

(A) accessible

(B) accessing

(C) accessibility

(D) accesses
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2. Most of the warming observed over the last 50 years is likely to be
to human activities.

(A) attribute

(B) attribution

(C) attributable

(D) attributed
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3. Our sales tracking system records each step, from the initial
to the finaldelivery to the customer.

(A) bargain

(B) time

(C) order

(D) management
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4. Since Mr. Smith is our only delegate to the conference, he has to travel
there by

(A) him

(B) he

(C) his

(D) himself
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5. The handbook out at the seminar will enable Hi-Tec
Computer employees to familiarize themselves with the newly-developed
chip.

(A) giving

(B) will be given

(C) given

(D) gave
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6. On an ongoing commitment to client , we have to repeatedly
try to conductthe survey regarding our products.

(A) satisfaction

(B) satisfy

(C) satisfactory

(D) satisfactorily

A 024 ohRof ofsf T Sl sdlol 27eiM f2ls gEXoz 22| 4ZS0 HE
ZAE FHSHTE sfjofsict,

TE) Bgustel ool B BAAUL. client 7F ZHBBAATE BAE Gl RO B
g Akel client satisfaction 117 WHEo] Ayt 4w (A)YUth
7. The employees can park at the back of the company, not in

the basementparking spaces.
(A) but
(B) whether
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(C) else
(D) or
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8. It is important to note that we are able to fund the arising
deficits in the short-term, we can t sustain our company more than a year
without merging with another.

(A) despite

(B) in

(C) although

(D) because of
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9. If the costs of raw materials hadn't been reduced greatly, our profits
wouldn't at all in the first quarter of this year.

(A) rise

(B) have risen

(C) raise

(D) have raised
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10. Not until you have a draft contract proofread show it to the
president to receive his approval.

(A) you should do

(B) you should

(C) should you

(D) do you should
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